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Appendix

Laplace
and z-Transforms

The first part of this table contains operational transform pairs, such as the trans-
forms of the derivative of f(¢). The second contains a list of explicit transforms. An
important point, discussed in Chapter 7, is that f(¢) is always zero in this table for
t < 0. Thus, if the shifting theorems are applied, f() no longer “starts” at 7 = 0.
For example if F(z) = Tz/(z — 1)?is multiplied by z ™", then the modified version
of f(¢) is a ramp function that is zero until + = nT and equal to (t — nT) thereafter.
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